

Suresh Gyan Vihar University Freeship/Scholarship Session 2025-26

Suresh Gyan Vihar University has announced a remarkable initiative to provide financial assistance to deserving students pursuing higher education in collaboration with Sahitya Sadawart Samiti, Jaipur.

As an esteemed sponsoring body, Sahitya Sadawart Samiti, Jaipur has generously consented to bear the remaining cost of education for a number of students enrolled at Suresh Gyan Vihar University. This invaluable support from Sahitya Sadawart Samiti has enabled us to extend numerous freeship and scholarship opportunities to bright and deserving individuals, who might otherwise face financial barriers in their educational pursuits.

The freeship and scholarship program aims to recognize and reward exceptional academic achievements, as well as provide assistance to meritorious students with limited financial means. The selection process will be rigorous and fair, ensuring that the most deserving candidates are chosen to receive these valuable benefits.

The details of freeship/scholarship to the Indian National students for the session 2025-26 under schemesare as mentioned below:

(1) Acharya Purushottam Uttam Fellowship (Freeship) (Number of Seats: 25)

100% Scholarship in Cost of study	Eligibility	
	On BOM'S Discretion	
Students under this scheme will be		
exempted from paying Tuition fee, exam fee,	100000000000000000000000000000000000000	
enrollment fee, books, lodging & boarding	only if the student maintains 75% or	
for the entire course of study	more attendance in each Semester.	

(2) Shri Suresh Sharma Memorial Fellowship (Number of Seats: 50)

Under this scheme, tuition fee of the program will be waived-off for the eligible students.

	Eligibility	
	On BOM'S Discretion	
(i) 100% Scholarship on Tuition Fee	To be awarded to those in need.	
	To be continued for successive years, only	
	if the student maintains 75% or more	
	attendance in each Semester.	
(ii) 100% Merit Scholarship on Tuition Fee	95% and above marks in 10+2 exam from recognized board.	

(3) Shri Sunil Sharma Merit Partial Scholarship

Under this scheme, a part of tuition fee will be waived-off for the meritorious students:

(i) 50% Scholarship on Tuition Fee	Eligibility		
For the First year only (50% of tuition fee willbe waived-off at the time of admission)	More than or equal to 92% but less than 95% in 10+2 exam from recognized board (92%≤marks<95%)		
(ii) 40% Scholarship on Tuition Fee	Eligibility		

(4) University President Merit Scholarship

Students eligible for both university president scholarship & Kamla Devi Gender Equality Scholarship, shall be awarded only one of these

(i) 25% Scholarship on Tuition Fee	Eligibility		
For the First year only (25% of tuition fee will be waived-off at the time of admission)	More than or equal to 85% but less than 90% in 10+2 exam from recognized board (85% ≤ marks < 90%).		
(ii) 20% Scholarship on Tuition Fee	Eligibility		
For the First year only (20% of tuition fee will be waived-off at the time of admission)	More than or equal to 80% but less than 85% in 10+2 exam fromrecognized board (80% ≤ marks < 85%).		
(iii) 15% Scholarship on Tuition Fee	Eligibility		
For the First year only (15% of tuition fee will be waived-off at the time of admission)	More than or equal to 75% but less than 80% in $10+2$ exam from recognized board $(75\% \le \text{marks} < 80\%)$.		
(iv) 10% Scholarship on Tuition Fee	Eligibility		
For the First year only (10% of tuition fee will be waived-off at the time of admission)	More than or equal to 70% but less than 75% in 10+2 exam from recognized board (70% ≤ marks < 75%).		

(5) Dr. Sudhanshu Employee Welfare Scholarship/Freeship

50% Scholarship on tuition fee	Eligibility
University (50% scholarship on	For higher studies from SGVU (Regular/Distance mode) against an agreement to serve for a minimum of 2 years after the completion of said program.
children of the University's	This scheme is for all (only regular mode) programs for the wards of the permanent employee of the University, who have served at least 2 years in the University and would be applicable as long as the employee continues to serve in the University.

(6) Smt. Kamla Devi Gender Equality Scholarship

Girl Applicants, who fulfill the minimum criteria of the program & %marks in qualifying exam, will be eligible to avail 20% scholarship in UG and PG programs.

Scholarship on tuition fee	Eligibility
For the first year only 20% on 75% plus in 10+2 exam/graduation 10% on 70% plus in 10+2 exam/graduation	More than or equal to 75% but less than 90% marks in 10+2 exam from recognized board (70% ≤ marks < 90%)

(7) SGVUAA (Alumni Association) Scholarship

25% Scholarship on tuition fee	Eligibility
SGVU ALUMNI	For higher studies from SGVU.

(8) Jay Prakash Narayan Scholarship

Gyan Vihar is committed to supporting and promoting educational opportunities for students from Bihar, and Jay Prakash Narayan Scholarship is designed perfectly to fulfill that mission. This scholarship covers tuition fees, including charges for accommodation, and is aimed at benefiting students from Bihar who meet the specified eligibility criteria. A detailed sheet of information related to the scholarship, including eligibility criteria is attached as **Annexure 1**.

Scholarship as per SGVU norms		Eligibility
For students of Bihar		Only for migrant students of Bihar Top 400 scorers in SGVUEE will be eligible. Minimum 60% in last qualified exam. Availing compulsory in-campus accommodation facility.

(9) Dr Ambedkar - SGVU Scholarship

Under this category Gyan Vihar aims to provide scholarship to students specifically coming from SC /ST/OBC-BPL/SBC/MBC. Detailed note of point 9 is attached as **Annexure-2**.

For SC/ST/SBC/MBC/OBC-BPL Category only	Eligibility
SGVU will contribute excess support to SC/ST/SBC/MBC/OBC-BPL students with Govt Scholarships.	(1) Only for Rajasthan State domicile students.(2) Minimum 60% in last qualified exam.(3) No accommodation facility (in-campus) will be provided.

(10) In any unfortunate situation, if a student loses his/her parent (either father or mother) while studying at SGVU, Sahitya Sadawart Samiti will contribute his half of the annual fee for remaining duration of his/her study.

......

Note:

- 1. If a student is eligible for two scholarships at a time, he/she will get only one scholarship whichever is higher. Also, if the student is availing any Government scholarship, he/she will not be eligible for any scholarship of SGVU.
- 2. Students not complying to any one of the above-mentioned requirements for subsequent yearshis/her scholarship will be cancelled with immediate effect.
- 3. A Student whose Scholarship is cancelled once, can again avail this facility if he/she fulfills the criteria [as given below in S. No. 5 (a) to 5 (d)] in any of the upcoming session.
- 4. Students who are availing benefit of BCCS are eligible only for Jay Prakash Narayan Scholarship.
- 5. Student will be given Scholarship if he/she fulfills the desired eligibility. The continuation of scholarship for subsequent years will be subject to (a) Minimum 7.5 CGPA in the previous year examination; (b) Minimum attendance of 75% in each semester (previous session); (c) No backlog in the previous year Exams; and (d) No disciplinary action against student in the previous session.
- 6. Candidates who are awarded the scholarship on the basis of student applications would be communicated by university and the scholarship amount would be adjusted at the time of deposition of even semester fee.
- 7. A student needs to submit all required documents at the time of submitting his application. The decision of scholarship will be on the basis of submitted documents. No documents would be asked individually.
- 8. Preference in admissions and award of scholarships is subject to approval of the competent authority. This is applicable to all the relevant scholarships.
- 9. Award of all the scholarships is subject to approval of the competent authority.
- 10. In case of any dispute, the decision of the President SGVU would be final and binding.

ANNEXURE: 1 Fee structure under "Jay Prakash Narayan Scholarship" for BSCCS Scheme, Bihar

S.No	Program	Duration (in Yrs)	Fees Per Year with Hostel	Complete Package	Fees without Hostel (PY)	% in Qualifying Exam
1	Diploma Engg.	3	110000	330000	48000	50%
2	B.Tech (ME/CE/EE)	4	140000	560000	90000	60%
3	B.Tech (Lateral)	3	160000	480000	80000	60%
4	B.Tech CSE-AIML	4	180000	720000	105000	65%
5	BCA	3	140000	420000	90000	60%
6	MCA	2	160000	320000	90000	60%
7	BBA	3	140000	420000	90000	60%
8	MBA	2	220000	440000	160000	60%
9	B.Pharm.	4	180000	720000	105000	65%
10	ВНМСТ	4	130000	520000	65000	60%
11	B.Sc HM	3	133000	399000	70000	60%
12	B.Sc Biotech	3	133000	399000	60000	60%
13	M.Sc Biotech	2	135000	270000	60000	60%
14	BPT	4.6	140000	560000	80000	60%
15	BA (Journalism)	3	133000	399000	60000	60%
16	B.Sc (Hons.) Agri.	4	180000	720000	105000	60%
17	B.Sc ABM	4	133000	532000	60000	60%
18	BBA+LLB	5	140000	700000	80000	60%

Note: In case, any student wish to come out of the package, normal fee will be applicable.

ANNEXURE: 2

Dr Ambedkar - SGVU Scholarship

Suresh Gyan Vihar University (SGVU) is pleased to announce the Dr. Ambedkar - SGVU Scholarship program, inviting applications from eligible students hailing from the Scheduled Caste (SC), Scheduled Tribe (ST), Most Backward Class (MBC), Special Backward Classes (SBC), and Other Backward Classes Below Poverty Line (OBC-BPL) categories holding Rajasthan domicile. Prospective applicants are required to complete the application process through the social welfare department portal within the stipulated timeframe.

Upon acceptance, eligible students may secure their admission by making an annual payment of Rs 20,000. It is important to note that any outstanding balance of fees, subsequent to the disbursement of the scholarship amount by the Samaj Kalyan (Social Justice and Empowerment Department), will be covered by the governing body of Suresh Gyan Vihar University, specifically the Sahitya Sadawart Samiti.

Dr Ambedkar - SGVU Scholarship

For SC/ST/SBC/MBC/OBC-BPL category only	Eligibility
SGVU will contribute excess support to SC/ST/MBC/SBC/OBC-BPL students withGovt Scholarships.	Only for Rajasthan State domicile students. Minimum 60% in last qualified exam. No accommodation facility (in-campus) will be provided.

Required documents at the time of admission:

(1) Admission Registration Form (2) All Eligibility Documents

(3) Cast Certificate (4) Income Certificate

(5) Jan Aadhar card (6) Bank Account (Registered Student)

(7) Cheque -05 (8) Domicile certificate

(9) Latest Passport size photo -02

Important Note:

- Students must ensure timely completion of the Social Welfare Department Scholarship form, as failure to do so will result in students being responsible for their own fees.
- Additionally, all students are required to submit their complete tuition fees by the 20th of July of next academic session. Failure to meet this deadline all late fine rules will apply as it is including withdrawal of LMS services etc. Also, they must submit an undertaking that he/she read all information and aware regarding the deadline.
- Upon receiving funds from the Social Welfare Department, students must promptly deposit the fees within 7 days. Any delay beyond this timeframe will result in fines in accordance with university guidelines.
- Students are allowed to appear in both internal and external examinations year-round, according to the stated guidelines.
- The Samaj Kalyan Scholarship students' results will only be announced upon payment of the tuition fees.
- In case of a dispute, the President of SGVU will have the final and binding decision.
- Important details regarding admission/registration:
 - ✓ Registration Form Fee: 1000/- (one time)
 - ✓ Admission Fees: 10,000/- (per year)
 - ✓ Last date of documents submission: 15th November 2025